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Making Conclusions

1. Given: TO = AN K
%i}
. Conclusion: E
\‘}/@ onclusion: I

8. Given:
Justification:
Conclusion:
2. Given: E is the midpoint of BD Justification:
Conclusion: ——o—o
... E F G
Justification: 9. Given:
L Conclusion:
3. Given: A bisects CT
Justification:
Conclusion:
Justification: F D
o E G,
4. Given: CO=0L 10. Given: c B>
\ &Q Conclusion: Conclusion:
o, .
' Justification: Justification:

5. Given: £DAY and X YAK are a linear pair 11. Given: mxXABC = m«HLJ

Conclusion:

- J’ .
A ) X Conclusion:

Justification: 2 e
t Justification:

6. Given: £TOM is the supplement of £SUE 12. Given: £ CAT and X RAP are vertical angles.

Conclusion:

Conclusion:
Justification: Justification:
/T)' 13. Given: £SAT = £ACT
M 6.5 S_
7. Given: U L)\()\Q Conclusion:
Conclusion: Justification:
Justification:

14, Given: A is in the interior of XGLD

Conclusion:

Justification:




15. Given: ﬁ = W

Conclusion:

Justification:

16. Given: £HAM is vertical to LEAT

Conclusion:

Justification:

17. Given:

Conclusion:

Justification:

e

18. Given;
Conclusion:

Justification:

19. Given: m£XNAT +mAWED =90°

Conclusion:

Justification:

20. Given: UB bisects KRUY

Conclusion:

Justification:

5 8
21. Given:
Conclusion:
Justification:
5 :_‘;.:7 o :
T L Disech
L b Disects
/MK
I K A I‘ — ¢
22. Given:
Conclusion:
Justification:

23. Given: £ PAI and XIAR are a linear pair

Conclusion:

Justification:

24. Given: £CAT and £RAP are complementary
angles.

Conclusion:

Justification:

25. Given: mANAT + mxXWED =180°

Conclusion:

Justification:

26. Given: A is between J and M

Conclusion:

Justification:

“Making Conclusions”” Worksheet continues on the next page...




For #27 and 28, a two column proof is given but steps are missing. Fill in the missing steps and

rewrite the whole proof correctly.

27. L2 ; ¢ 3/4 |

Given: £1is supplementary to x 2, £ 3 is supplementary
to £4,and £2= X4

Prove: £1= X3
Statements Reasons
1. £1& £ 2 are supp. Given

£ 3 & X 4 are supp.

mx1+m£2=180°

mx3+mx4=180° Def. of Supplement.

3. mAl+mA2=mL3+mL4

\Skip Step 9.

4.
N\ N\ M\ Va N\ A\
\5\; {}/ \,\\; ;_//'/"“ \\"R-,. i 4 \\.\ i \\4 \\.\\‘\ P y \\\: y y
6. mLl+mLd=mg3+mL4 Substltutlon‘p rop
Steps
7. mAl=mxL3 Subtraction prop.
K

M

28. 17~ E
I

Given: £ 5 is complementary to £ 7

Prove: MI 1 IE

Statements Reasons

1.  X5& 47 are comp.

p3 mAS5+mxT=90°

Given

Def. of complement.

4.  mgLMIE =90°

6. MILIE

Substitution,

Definition of perpendicular
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Making Conclusions

1. Given: TO = AN M K
Conclusion: TO = A'N Eé-};
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Conclusion: C A= Ar-r

Justification: d‘@‘(‘ O"C bS€Q+ FI/D"
. E G
4, Given: CO = OL, d o P

g — 10. Given:
(A Y U

Conclusion: yfwﬂ‘ ) = VY . Conclusion: £LF EGﬂ - <FED 1< DE 67

Justification:_ [ \ v OX = JCYUARLTH A -
- —1 Justification: >

5. Given: £DAY and XYAK are a linear pair 11. Given: mABC = mxHIJ

Conclusion: <D A-\/ a LYAK = IXD | Conclusion: < pﬂ Q)Q. ';5’ 'ZP( !J’

Justification: || S ‘ ‘ Justification: (\\ € '( OF \Cf(l/f/la,)(«( 4 ?!/ f\f

6. Given: XTOM is the supplement of £SUE

12. Given: £CAT and XRAP are vertical angles.

Conclusion; <] OM+ LK VEZ|KO! Conclusion: < C/H’T /:‘_:’__.. ya a HP

Justification: _dﬂm_ Justification: \[? {,h Cci l st —
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Justification: \‘W\PD( ) ?Q,{_ff} e _
Supel.

14. Given: A is in the interior of £GLD

Conclusion: <Cﬂ L«A + < LA’\B:- < 6‘) LD
Justification: ‘Q(Z\jl-(’ ,O-Ad,(,%)m =




15. Given: ﬁEW

FA = R

Conclusion:

I ustiﬁcation:_deO_QL%Mdﬁq / —

16. Given: £HAM is vertical to LEAT

Conclusion: “\HAM = ,l ;/\’

Tustification;_\V2r-heod €S o =
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17. Given:
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18. Given;
) C A\ ( ‘l
Conclusion: SO —4%~ |
Justification: V ¢ "TI(OLY =0 W

19. Given: mXNAT +mAWED =90°

Conclusion: <Nﬁu\ Oﬁd <\l\j ED oL
Cor \g\ . ‘

Justification: A 'F OC C/O(Y\P l

20. Given: UB bisects £RUY

D
Conclusion: 4 P\-U % = 4 U B\l
Justification: L el

21.

22.

23;

24,

25.

26.

Given:

Conclusion: 48"" 4.6\

Justification: w «SM_HQL

Given:
Conclusion: < Ml - ,""3«?3 L L—\L
Justification: dQC OQ L‘\Dﬂ Sf’(\jk)(

Given: X PAI and XIAR are a linear pair

Conclusion: ‘4PH\ + < \A(L; \S‘D

Justiﬁcation:lmﬁadpa,j_(_i_(x@pp\ :

Given: £CAT and XRAP are complementary

angles.
. J N [Ta%y | J‘, N % /
Conclusion:_ &4t 1 . & 1
| ~ N '
. . fa -1 = A& Orvl NI .
Justification: (€t Ot CONVLPN

Given: mANAT +mALWED =180°
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sustification:_ (%L o\ Siuppl.
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P SRS

Given: A is between J and M

Conclusion: HS + 1\4'\’\ = A’ M i

Justification: (;!2 cn\nt G d@:;b m
C

“Making Conclusions” Worksheet continues on the next page...




For #27 and 28, a two column proof is given but steps are missing. Fill in the missing steps and

rewrite the whole proof correctly.

27, L2 | 3/4

Given: £1is supplementary to £ 2, £ 3 is supplementary

to A4, and [£2= €4 |

Prove: X1= X3
Statements Reasons
1 £1& £ 2 are supp. Given

£ 3 & £ 4 are supp.
mL1+mx2 =180°

2. A3+ mA4=180° Def. of Supplement.
3. m&Ll+mA2=mAL3+ms4
4, a(:/ ‘< er : Y e " )

Y (,;X ] ‘ \ (){‘\'\‘f‘{\(\‘

/ P o /,,r-‘\ A A . L
5.\\\5 / \;.4{///‘ \g{x s/‘;// \_ ,’/ \_ ;‘; \, y \ <‘ def&‘ Cﬁ" f:’;d
6. mLl+mAd=mx3+mL4 Substitution prop,

Steps .

7. mfl=mx3
K
8. M1"E
I

Subtraction prop.

Given: £ 5 is complementary to £ 7

Prove: MI | IE

Statements

Reasons

1.  X5& X7 are comp.

2. mA5+mx7T=90°

L BHEM=LMIE

o

Given

Def. of complement.

4.  mAMIE =90°

6. Ml LIE

LY\&\Q adduhre
Substitution

Definition of perpendicular

Stp
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